1.Velocity:

V= 4Q2 [m/s]
wd
where:

O— flowrate [m’/s]
d — hydraulic diameter |[m]

2. Reynolds number:

d*v
Re:\’

where:
d —hydraulic diameter|m ]
v—velocity[m/s]

v — kinematic viscosity [mz/s]

3. Friction factor:

7\:;—4 , forR, < 2300

L (LI forR, > 4000 (Colebrook - White)

for 2300 < R, < 4000 Ais found trough linear interpolation

4. Major pressure loss:

L
major d 2
where:

\— friction factor [-]

[ — pipelength [m]

d — hydraulic diameter [m]
p—density [kg/m’]
v—velocity [mls]

5. Minor pressure loss:
2
BP= K 57107 [bar]

where:

K —k— factor
p—density [kg/m’]
v—velocity [mls]

6. Hydrostatic pressure:
Apyirosiaic=P 82107 [bar]
where:
p—density [kg/m’]
g— gravitational acceleration [m/s’]
z—elevation change [m]



